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Problem [1]: 
Use source transformation to find 𝐼𝑥 in the circuit 
shown to the right.  
 
Answers: 𝐼𝑥 = 5.238∠17.35𝑜 𝐴 
  
 
 
 
Problem [2]: 
Using loop analysis, find 𝐼1 and 𝐼2 in the circuit 
shown. 

 
Answers:      𝐼1 = 4.698∠95.24𝑜 𝐴, 

𝐼2 = 0.9928∠37.71𝑜 𝐴. 
 
 
Problem [3]: 
Repeat solving problem 2 using source transformation. 
 
 
 
Problem [4]: 
Compute 𝑉𝑜 in the circuit shown using loop analysis. 
 

Answers:  𝑉𝑜 = 11.648∠52.82𝑜 𝑉 
 
 
 
Problem [5]: 
Repeat solving problem 4 using superposition method. 
 
 
 
Problem [6]: 
Use node analysis to find 𝑣𝑜(𝑡) in the circuit shown below. 
 
Answers: 𝑣𝑜(𝑡) = 15.73 cos(𝑡 + 247.9𝑜) 𝑉 
 
 

 
 
 
 
 



2 

 

Problem [7]: 
Use node analysis to find 𝑣𝑜(𝑡) in the circuit shown below. 
 
 Answers:  𝑣𝑜(𝑡) = 6.154 cos(103𝑡 + 70.26𝑜)  𝑉 
 
 
 
 
 
 
 
 
 
Problem [8]: 
For each of the circuits in the figure shown below, obtain the Thevenin and Norton equivalent circuits 
at Terminals a-b. 
 
 
 
 
 
 
 
 
 
 
Answers: 

𝑍𝑡ℎ = 𝑍𝑁 = 7.211∠ − 33.69𝑜 Ω                           𝑍𝑡ℎ = 𝑍𝑁 = 5.423∠ − 77.47𝑜 Ω 

                 𝑉𝑡ℎ = 14.422∠ − 33.69𝑜 𝑉                                   𝑉𝑡ℎ = 19.4∠ − 59𝑜 𝑉 
                 𝐼𝑁 = 2∠0 𝐴                                                          𝐼𝑁 = 3.578∠18.43𝑜 𝐴 
 
 
 

 

Homework: 

Find 𝑖𝑜(𝑡) and 𝑣𝑜(𝑡) for the circuit shown below.   
 
 

 
 


